PAPER CODE 2017 (S) @> A
N pea™

NUI“BER: 3191 SSC PART-Il (10th CLASS)

MATHEMATICS (SCIENCE GROUP) (.;J ) o"’Lf
GROUP-| by - o)
TIME ALLOWED: 20 Minutes OBJECTIVE Lf’g/".ﬁ 2420 = <y
MAXIMUM MARKS: 15 15= Af

S L fitﬁfbﬁh"f&uvé..,m..m)c,u:u,}ué{_;av&d!rﬁ;q{@m -gLED s CB ALy, S
V1 -fé_lgpu:‘fc;‘j!(u':;ﬂﬂﬁ_/&;;’ Bubbles _fﬁ»j};’@_-.iﬁujjiuﬁ:«z:"d’i_/q Py L L./C;fu,.’f!mg.::..._fr Rydy

Note: You have four choices for each objective type question as A, B, C and D. ivf_xC:J‘}ff;..—.- sy > ¢ Iy

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The solution set of equation 4x*> —16 =0 is:- -.?_.::-J"a’ 4x* —-16=0 b (1)
(A {x4} ®) {4 } ©) {2} () £2 ,
(2) Two square roots of unity are:- BB enl (8 (2)
(A) 1, -1 B) Lo C) |, - (D) o, N
(3) al+é is equal to:- _(_:_;J/. al+é (3)
] 11 a - B o+
A) — B e C B ———
(A) 2 (8) < B (C) " (D) P

(4) In aproportion a:b::c:d a and 4 arecalled:- -;_}‘;LH:-'/ d » a abcd (4)
(A)Means 3 (B) Extremes ¢2/ (C) Third proportion —-£1# (D) Fourth proportion £

(5) Inaratio a:b, a_is called:- _.j_.t‘ibr( a J ab =¥ (9)
(A) Relation (B) Antecedent A (C) Consequent (i (D) An identity =1/
2x + 1 , / 2x +1
Geliz—1 > - — T3oe-n 9
(A) An improper fraction .,,).l:;f (B) An equation « s+ (C) A proper fraction /.,).rs (D) A relation f )
(7) f A< B  then 4- B isequal to- ng, A-B ¥ AcB i (7)
(A) 4 (B) B C) ¢ (D) B —/A
(8) The set having one element is called:- -q_t‘LLf'/ [WJ;,;_,’!_J/U_':J;{ (8)
(A) Null set xb (B) Power set 2xusy  (C) Singleton set _.-:l; (D) Subset .ff "
(9) Adata in the form of frequency distribution is called:- ..IL'FLL?';I!U‘J f’Jf-‘y So 9)
(A)Grouped data :!r(ﬁ:/ﬁ (B) Ungrouped data :Jrnﬁs)j:f (C) Histogram :«?UJ § (D) Ratio _-/
(10) The union of two non-collinear rays which have ~- t'Uv:'( — K P r/..,p K/ Uf Lfﬁié(? /:f'» (10)
common end point is called.-
(A) Anangle s (B) Adegree df (C) Aminute & (D) Radian
(11) The symbol for a triangle is denoted by:- e S Ll (1)
(A) < (B) A € L ® ()
(12) Acircle has only one:- et GL ] (12)
(A) Secant Cf’ﬁ"?:-' (B) Chord s (C) Diameter (D) Centre }r/
(13) The central angle of the semi circumference is of:- - tﬁ,;r.:;jf/'ﬂg‘.wéz_.?u (13)
(A) 90° (B) 180° (C) 270° (D) 360°
(14) Angle inscribed in a semi circle is:- = ::r:,ﬁ;.-r{,f.'.’r..}h_iﬁ (14)
") ® V4 ©) © v
(15) The length of the diameter of circle is ____times the -;.Jntf Ll md Bl mg  (15)
radius of the circle. (A) 1 (B) 2 (C) 3 (D) 4
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ABER:

MATHEMATICS (SCIENCE GROUP) (o) ) U
GROUP-I o - o/
TIME ALLOWED: 20 Minutes OBJECTIVE d:‘if’,-?? e#20 = &b
MAXIMUM MARKS: 15 15= A

S L ﬁ'.fafb_’ii:'?&lb/é:._..!ﬁwuc.Ju:;béé.;é.’_ VLJV/;{QB’QUE ..uﬁ'éé.,ﬂ D, CBA &Elﬁ;ﬁ-ﬂ‘f&d"’ﬁ -
S Kbl A8 eSS, Bubbles st izaifen S S5 Sk | &Sl L1 -2

Note: You have four choices for each objective type question as A, B, C and D. -L,_f/‘f;d’}‘;...:.v!r{.g,;.ﬂr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) If a:b=x:y , theninvertendo property is:- -q.-:f?f?ﬁ a:b=x:y /i (1)
w 2=t B -2 =t (g 2Xb_2*y o 2=2
x oy a-b x-y b y a x
(2) A fraction in which the degree of numerator -q.Jka Tl ﬁ'f/c.d;;(j & /dfiu( aﬁj&fwu)-/ (2)
is less than the degree of denominator is called:- (A) A proper fraction /.,,ab
(B) An improper fraction /..AJJ/:'_"’ (C) An equation &lsl~ (D) An identity el
(3) The different number of ways to describe a set are:- -.T_Jmlﬁd’uﬁ! JOBLE Syder  (3)
(A) 2 (B) 1 (C) 4 (D) 3
(4) Point( -1, 4) lies in the quadrant. <t (-L,4) B (4)
(A) | (B) Ii ©) (D) V
(5) Sum of the deviations of the variable X &b 74 KJJ/;!c-.»:fQLJLJIK X ;.”‘o’f (5)
from its mean is always:-  (A)Zero »  (B)One I (C) Same L2kl (D) Two »
(6) Sec™® = Sec’d = (6)
(A) 1-sin’0 (B) 1 + tan’@ (C) 1+ cos*6 (D) 1 — tan
(7) The distance of any point of the circle to its centre is called:- o1 rﬂ‘»ﬂaﬁmﬂe:ww?g’ Lol (7)
(A) Radius (/' (B) Diameter & (C)Achord Jsfl (D)Anarc Akl
(8) Two tangents drawn to a circle from a point SLr Lyuﬂéyuuég’»c,ﬂd,ﬁ&.;w (8)
outsideitareof __ inlength. (A)Half -4 (B)Equal 4 (C) Double 78 (D) Triple t:fcf
(9) A4 cm long chord subtends a central M b e bl 607 47;'}:11!3&%' 4 (9)
angleof 60° . The radial segment of this circle is:- (A)1ecm (B)2em (C)3cm (D)4cm
(10) Angle inscribed in a semi-circle is:- _‘gm_,:l}»‘;&;}h..iﬂj (10)
® Y ® s © % © %4
(11) _____ common tangents can be drawn for two disjoint circles. -ugé?g J WS ;-5‘ e Lu;?b(‘f E?/f» (11)
(A) 2 (B) 3 (C) 4 (D) 5
(12) Two linear factors of x* —15x + 56 are:- -ugjj-g&.u.{ nl x* —15x+ 56 (12)
(A)(x-7)(x+8) B(x+7)(x-8) (C(x-T7)(x=-8) D) (x+7)(x+8)
(13) Product of cube roots of unity is:- -f—fﬁdﬂ{?(?"dbjfc‘:{j(f (13)
(A) 0 (B) 1 (C) -1 (D) 3
(14) o’ + B? Isequal to:- ez o’ + B (14)
® a®-p’ (B)é»&; C@+B)-20p (D) a+p
(15) If y* oc — |, then:- Y m% S (1)
¥osm & a1 2 _ 2 2 oy
(A) Y e (B) ¥ > (C) y =x (D) VY x
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2017 (S) )

: SSC PART-Il (10th CLASS) éy/

MATREMATICS (SCIENCE GROUP) =) ) Sl
GROUP-I gl
TIME ALLOWED: 2.10 Hours SUBJECTIVE _GiLe 210 =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -ci-wd,a{.gfrfzé @;J/fzszﬂl/:}d!r&,;q K3z s

and its part number on answer book, as given in the question paper.

SECTION-| Ji.o

2. Attempt any six parts. 12=2x6 -égfayiﬁé:legr_df _2/,‘.J!r
(i)  Define Reciprocal Equation. -“é.yﬁ'&-,uwﬁ (i)
(i) Write the given equation in standard form. (x+7N(x-3)=-7 _quufpt;d;pf.:abvﬁfd:_ (ii)
(i)  Find the discriminant of following equation:- 4x* - Tx-2=0 -Q/(PaMJ)KafsvfdJ (iif)
(iv) Evaluate. (2+20 -20%)(3-30 +30%) Eeed (i)
(v)  Write quadratic equation from the given roots:- -2,3 ,40:;1:&&;:» & ujuZé.) (V)

(vi) Using synthetic division to find quotient and remainder, when o Eeined Poinl JJeds i
(X +Tx=-1)+(x+1)

(vii) Define Direct Variation. S ed (i)
(viil) Ifthe ratios 3x +1:6 + 4x and EpdS x Jumde2:5 0 3x+1:6+4x U (i
2:5areequal. Findthe value of x .
(ix) Find a fourth proportional to:- 4x*. 27, 18x° -ép‘-"._.wb"ﬁg (ix)
3. Attempt any six parts. 12=2x6 S ez lizig e & 34
() “Whatis an Improper Fraction? ?%dﬂg/_,zu/é (i)
- , . X P ¢ ) " e X il
(i) How we can make the Partial Fractions of g — .J_ru.'ctgdt:(,)’u’g/dszd/ Iy — (ii)
(iiiy Define Intersection of two sets. LSl gt i
S x-vin Y={4812,—~—-24} wX={2,46--——2}/ ()
(iv) If X={2,4,6,———-20} and ¥ ={4,812 ——--24} . thenfind X — ¥

AUB=BUA &J#7 B={2357} #a4={1,357}) ()
v) If 4={13,57} and B={2,3,57} thenfind AUB=BUA4

EeP A U ={1,2,3-———- 10} 4={23,57} /i (v
vi) If 4={2,3,57}and U=1{1,2,3 -————- 10 } thenfind 4’ .
(vii) Find Range for the following weights of students:- _ér#:w&uu,lé UA 6 (vil
110, 109, 84, 89, 77, 104, 74, 97, 49, 59, 103, 62
(viii) Define Mode. oS (i
(ix) Find arithmetic mean for the following given data:- -é(#’bf:lgjv&lfz & d’ s (i)

200, 225, 350, 375, 270, 320, 290
(&l on)



(2)
4. Attempt any six parts. 12=2x6"
()  What is Sexagesimal System of Measurement of Angle?
(i) Expressin D’ M', S" form 125.45°

(i) Verify the identity. SN0 . Cos0) = Sec et
CosB "
(iv) Define Projection of a Point. A /"J,WJELQ fz
(v) What is meant by Radial Segment of a Circle? ?‘uf/g&. Bl ey
(vi) Define Tangent to a Circle. ESvl
(vii) Define an Arc of a Circle. _gj’:’..y /“JJ}' J e
(viii) What is meant by In-centre of a triangle? ?;.,yg’;;})ﬁéw
(i) Whatis meant by Diameter of a Circle? Seslpe Bl J

SECTION-ll ry.2

;\ i//utiiﬁl/!ia.df A/ULV
é/ ".:.L- LMUMLJVKJKJU%
1

25450 -2 S, M', D° itn

li
(ii)
(v)
(v)
(vi)
(vil)

(viii)

(ix)

24=8x3 il 84 A oL st 2

NOTE: - Attempt any three questions but question No.9 is compulsory.

5.(A)  Solve the equation. Jr¥r3=3x~1 Sl ()5

-E{r#..-,éJ a’p? +a’p’ ?u:‘rujuf. i +mx+n=0 ahbr B oa ﬁ
(B) If o, P aretheroots of the equation ¢x* + mx +n =0
then find the value of o’p? + o’p’

o k=B Sy df X EXE g S el B ()6
y+ 2z * xX-2y x A ;

-2z
x+2y+x+23 i x 4 yz

6.(A) By using componendo-dividendo theorem, find the value of

x—-2y x-2z y+ 2
(B) Resolve into Partial Fractions. 7x-9 -u:ff uiu;/d:?: ()
(x+1)(x-3)
(A-BY = AUB&EeitmU ={1,2,3, ————- 10 }s B={1,4,7,10}4={13579} (.7
7(A) f 4={1,3,579} ,B={1,4,7,10 }and U ={1,2,3, ~———~ 10 }
thenprovethat (4 - B) = 4'UB
(B)  The marks of six students in Mathematics -égrﬂ’q/?‘ - J:wa)/,}u/(y bgﬁf};&iuqu{ ()
are as follows. Determine the variance. 60, 70, 30, 80, 80, 42
8(A) Verify that- T S . et (U).8
1-cos8 1+ cosB
(B) Drawtwo perpendicular tangents to a circle of radius 3 cm. -u‘f’a’ La’d;r’::iz_/’bLl;w»( 3 ()
9. Prove that If two chords of a circle are congruent Z Ukl fslae //uyuyJ lr/m&_/bf 4_../& -9

then they will be equidistant from the centre. OR |

Prove that -c‘_t'!;'tﬁ:..,::f}ﬂ‘;[.a/:(u' J’.'w‘u; |uleﬁ‘:;1:'}df/ﬂb'd._-c.nﬁu u“.;u.:..}bLf( 1.4:-43'
The measure of a central angle of @ minor arc of a circle is double that of the angle subtended

by the corresponding major arc.

32-2017(S)-500 (MULTAN)

()



SSC PART-I (10th CLASS)

2017 (S) /__\ A
@7 )

MASHEMATICS (SCIENCE GROUP) (o) Pl
GROUP- e
TIME ALLOWED: 2.10 Hours SUBJECTIVE bl 210 = &
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -q,éjjufg_{.jfrfﬁé éi)ﬂ})?f))if:}gj!fd‘ﬁéégdm i

and its part number on answer book, as given in the question paper.

SECTION- Jil.o

2. Attempt any six parts. 12=2x6 -ézqu&zq:.& . /:EJIr
()  Define Quadratic Equation. Eebllnn ()
(i)  Write the given equation in standard form - l e 1 == 3 _uf’{;dﬁd/pf.;bu&f S (i)
(iil)  Find the discriminant of the given equation 6x’-8x+3=0 -g?:()-‘” VAE S (il
(v) Evaluate (9+ 4w +4w? ) O +40 +4w' § gdobed ()
(v)  Using synthetic division, find the quotient and remainder, when B Qe ot nZ JJee J(/ (v)

(2 +7x-1)+(x+1)

(vi) Find the sum and product of the -_ér:j”.,,,r"’d" bl bl 5 px? +3gx — 4r =0 =hle (Vi)
roots of the equation 2px* + 3gx — 4r =0 |

(vii) Find the ratio of 1 Km to 600 m. K600 f 1 Eeesd (i)

(viii) Find a iftheratio a+3:7 + a S a Junds 4:5 H a+3:7+a AN (il

and 4:5 areequal

(i) Find a mean proportional between 20, 45. 2, 45 P @i ()

3. Attempt any six parts. 12=2x6 & felzling e 3 34y

(i)  Define Proper Fraction. E75 i)

) . ; 1 )

(i)  Resolve into Partial Fractions. 1 ..in u:;/d;zf e o (ii)
o -

(ii) Define Intersection of two sets. S ASCE U (i

P aUB M B={358} # 4={23,57}/ (i
(V) If 4=12,3,57} and B={3,58} thenfind 4UB

() Find @ and 5 fif (2a+5,3)=(7,b—4) Sy b owa

(vi) What is meant by Ordered Pairs? ‘el iz (Vi)

(vii) Define Variance. Eafle il

(viii) Find the Median of the given data:- 82, 93, 86, 92, 79 -éf}”gbsélr:fé; (viii)

(ix) Find the Harmonic Mean of the given data:- -é{:"’hﬁb@ff b’ﬂ:’zé.; (ix)
X 12 5 8 4

(&ids)




4. Attempt any six parts. 12=2x6
() Define Radian.
(i) Convert 2™ radian into degree.

St i

?f/ Efenlinge ) ad)y
: Ebasshlys ®

6
(i) Find ¢ ,when- 6 =180°, r =4.9em 0 =180, r =49cm -:.?g_i:pl” ¢ (iii)
(iv) Define Zero Dimension. -ZL:J}L,(L?L;,J/“ (iv)
(v) Define Segment of a Circle. E s ()
(vi) Define Secant of a Circle, EPBClen i)
(vii) Define Arc of a Circle. d‘é_@/?&‘;&.}b (vii)
(viii) Define Escribed Circle. EPhmsl (i)
(ix) Draw a Circle of Radius 3.5 cm. a0 (35 (ix)

SECTION-Il 9.2
24=8x3 0 9wt fenl e f o
NOTE: - Attempt any three questions but question No.9 is compulsory.

5(A)  Solve the equation. S3x+100 ~x=4 Efehs ()5
()  Using synthetic division, g 2 —3het 49 GF Pl n cd LA ()

find the value of % if'3'is the zero of the polynominal. 2x* — 3Ax* +9

6.(A)  Using theorem of componendo-dividendo solve -_éd’é_xi./db"‘!a&k.‘;;?{ e (-6
(x-2Y -(x-4) _12
(=2 (x<4Y 13

7x. 25 7
(B)  Resolve into Partial Fractions. = _édivui;/ds'z (o)
(x-4)(x-3)
(AUBY = ANB'Ecbin B={1,4,7,10 } s Ad={1,3,579} U={1,234--—— 10} (.7
7A) FU={1,234-———— 10}, 4={1,3579} and B={1,4,7,10 }

then prove that (4UB) = 4'N B’

(B)  Find the standard deviation S 9,3 88989 18 Eo s Il ()
8.(A)  Verify the identity. (tan® + cot®) (cosB + sin® ) = secO + cosecHd -q/.v.t'JV ()-8
(B)  Draw two perpendicular tangents to a circle of radius 3 cm. _u"{)’ Lf'd;r‘u&_/’bLl;Jl»( 3 (.,,)

9, Prove that two chords of a circle which are _UEZ.JEJ&L;"(IL funpww.;{m}m&_/’uf J Jerk -9

equidistant from the centre, are congruent. OR |
Prove that the opposite angles of any quadrilateral -q.rz.nu’}{i’a__su.éiif-é;;(:;ds}b&}bo{féqﬁ

inscribed in a circle are supplementary.
30-2017(S)-1400 (MULTAN)
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